8 Algebra CC 8-2

Essential Question: How can we solve a system of linear equations algebraically?

Do Now: Find the solution to the following system of linear equations.

Solve the following system of equations : Whether you use a table of values, interceptor % » &

: slope-intercept method to graph the system of g A
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Og Is there another way to solve this system?

“ﬁ"’/ y = 3x 2y + x = 14

A ot al

ez
bx +x =14
1% =
X =2
=3X
= 3(2)

cCommen Seo ivtion

(2,6)



Using the Substitution Method to solve Linear Systems

1) x=y+1
x+2y=10

(y+1)+2y =10
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3) Members of the Cinema Arts Theater pay an annual membership fee of $15 and view
movies for $2 each. Nonmembers pay $3 for each movie viewing.

a) Write an equation that represents the cost @of viewing@movies for members.

C=15+2Zm
b) Write an equation that represents the cost (C) of viewing m movies for nonmembers.
C=3m

c) Solve the system. What does the solution tell us in the context of the situation?
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W Solving Systems using the Substitution Method

1) Solve for X or ¥ in one of the equations.

2) Svbstitute

the expression that represents x or y into the other equation

and solve for the variable.

3) Solve for the other variable using either equation.

4) Always __C heck your solution (x, y) with both equations.

Turn and Talk.

2x=8 -5y

1. Given the following system: x+y=1

Which equation would you choose to solve for a variable? What variable would you
solve for? Why?

Z wovid ¢ hoose X + Y = | becavse c{ad\ variable "\a'LJ a (o~ efficienct
of 1 ('ecuy +» iJc‘faL{'fJ, 7 would 'or*obr\laty Jolve Hor x Since
4 would be eadier o Jubdtitvie  in Hhe ofhec eguation .

x+2y=4
y=2+7

2. Given the system:
Explain why it is OK fo substitute 2x + 7 for y inx + 2y =4?
, A P
The eguation y = 2x+7 +ellr you that y " ha
the “ame valve ad 2x+ 7. wherever you See 'y ’J you

cann V“CP‘CK.CL’ [+ whr 4R llZX"l‘7"_

3. Examine the linear system graphed to the right. e |
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